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Class Activities

CA 22.1   How large an area should a sedimentation tank cover if it is sized to treat 0.2 m3/s with an OFR of 20 m/d and an influent TSS concentration of 30 mg/L?  If the TSS removal efficiency is 90% and the sludge flowrate is 3% of the inflow, what is the steady state sludge concentration?  Answer:  864 m2 and 903 mg/L

CA 22.1  A 3 m by 3 m filter is loaded at 5 m3/m2h.  If the influent TSS concentration is 10 mg/L, what mass of solids is collected in a 20-hour filter run?  Assume no TSS in the effluent.  Answer: 9 kg

CA 22.2  If a disinfection process works according to Chick’s Law and you need a 5 order of magnitude reduction in the coliform bacterial count, how long must your plug flow contact tank be?  Assume that the flow is 2 m3/min, the rate coefficient is 0.25/min, and the tank cross section is 1 m by 1 m.  Answer: 92 m


